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title page of the answer-book.

o U A B foh 39 TA-IF | Hled I8 11 § 91 2 Y8 AT % 3 |

o THUF H gIfed g1 Al 3 fu MU Hig TR B HH IWYEH & @IS W
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o FUN AR fh M IHATTH 22T F |

o HUAT TT T IW TG & FH & Uge, T T shHTh a9 o |

e TH YHUA HI UG  fo1C 15 fire 1 Tm fean mn g | weA-uw o TR gty
T 10.15 o fopam ST@T | 10.15 S99 § 10.30 S ek B had YI-9F hl Tl
3R 38 ATY & TR d IAL-YIEIhT T HIg IR g faE |

e Please check that this question paper contains 11 printed pages and
2 pages of maps.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 22 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
the answer-book during this period.

e (JgTf=re)

GEOGRAPHY (Theory)

REgiRa a7 : 3 o2 STferHaTH 3% : 70

Time allowed : 3 hours Maximum Marks : 70
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General Instructions :

(i)
(it)
(iii)

(iv)

(v)

(vi)

(vii)

(viii)
64/2/3

There are 22 questions in all.
All questions are compulsory.

Question numbers 1 to 7 are very short -answer questions carrying 1 mark
each. Answer to each of these questions should not exceed 40 words.

Question numbers 8 to 13 are short-answer questions carrying 3 marks
each. Out of which one question is a value based question. Answer to each
of these questions should not exceed 80 — 100 words.

Question numbers 14 to 20 are long -answer questions carrying 5 marks
each. Answer to each of these questions should not exceed 150 words.

Question numbers 21 and 22 are related to identification or locating and
labelling of geographical features on maps, carrying 5 marks each.

Outline maps of the World and India provided to you must be attached
within your answer-book.

Use of templates or stencils for drawing outline maps is allowed.
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1. ‘Ig B SHEEAT e i GRHTiNG i | ' 1

Define the term ‘Ageing population’.

2. WA gl 9% I Rl QY &Rl (Ted) H arffeha Hifv | Lilag

Classify the Indian cotton textile industry into two sectors.

3. 3Tk AT <hl THTRIAT fopd TR 8T hl =i 3T TEUE 9 At wdt

8? 1
How does the navigability of inland waterways depend on the width and
depth of the channel ?

4. AN YETE R B & ? 1

Why do people migrate ?

5. " TR & Soa™tae &8 ° T S BEd IS Al 8 2 1

In what type of climatic areas is sugarcane cultivated ?

6. T U T AN B 2 1

What is meant by tourism ?

7.  TorE YR STl waTEt 3gW & i oA gig H wewqul fHeR fvmd 7 2

~

How do internal migrants play an important role in the growth of the

economy of the source area ?
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AT AAT A & A9F I WRA § Yowd wHior sfee & foehma o et fiem
f79E 3 2 3aTetnt |fga v HIT | 3

How have security and scarcity of water played a role in the development

of clustered rural settlements in India ? Explain with examples.

A H ITM % g Sl Ig9HH % (€ Ygh fRU T foRedl A wewaqul
TEhIhi shi ST HIfT | 3x1=3

Explain any three important indices used to identify the clustering of
industries in India.

“AYTeMTd, Uk HHT o A=ATd &l YT hl ST Tehdl 8, ST YATIROT shl B T L]
g, qU Yy THR gl | e A Bt 7 17 39 hed o ferweror
@ﬁml 3

“Possibilities can be created within the limit, which do not damage the
environment and there is no free run without accidents.” Analyse the

statement.

= feu U M@l 1 FreYigEs A FifT iR 3k A= U T i %
ERIECUE I 1+2=3
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(11.1) FR fu 7u @i # wnfior s&dt gfesdi (A) 3R (B) 1 989 chiiay
3R 3k M faRau |

(11.2) I UTHIOT S&T o Gfaey shl Teh-Ush fomiydr fafigu |

Study the diagrams given below carefully and answer the questions that
follow :

(A) B)

(11.1) Identify and name the rural settlement patterns in the above

given diagrams shown as (A) and (B).

(11.2) Write one feature of each rural settlement pattern.

g :  HrlcIRad ge FacT gieaTiaa ghgniaal & 1079, 397 9@ 11 & € WE -

Note: The following question is for the Visually Impaired Candidates only,
in lieu of Q. No. 11 :

foerrasfiar <urt ® Tmio sifeaat it fopedl i @ aHEnsti ol Tas¢ hife | 3x1=3

Explain any three major problems of rural settlements in the developing

countries.
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12. = fu MU s w1 wEHigEs e i o e e fou T e %
I T 3x1=3

=7 Y 3EITd qaT

ij & T wen
Ege sy vy fE-srs
5 s TS TG

(12.1) IR NG ¥ YeRid | 3N 3G G937 hl IgaH hIfy R 3T
T forfaw | g v fohm U W feya R 2

(12.2) 39 933 ! HIA-Hl 2 Afeal I Iucteds HUdl 3 2

(12.3) 38 9I < foTu forq 1 47 &iq -1 8 2
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Study the diagram given below carefully and answer the questions that

follow :
Steel Plant To Bokaro
s
T v Steel Plant
C;” @ Limestone
Hirakud Dam Y7 Iron-ore
\ ma—sma— Railway

(12.1) Identify and name the iron and steel plant shown in the above

diagram. In which State is this plant located ?
(12.2) Which two rivers provide water to this plant ?
(12.3) Which is the main source of electricity for this plant ?
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Note: The following question is for the Visually Impaired Candidates
only, in lieu of Q. No. 12 :

ToeTs sEuq I o faehr o o Saierl fopedl i Jg@ Sehl i =TT
4§||§IQ | 3x1=3

Explain any three major factors responsible for the development of
‘Bhilai Steel Plant’.

18.  “Ti¥ smufyre fued Yra & Ferl A ueh i g B 17 39 gHe
% DT H TEh fohral dF ol hl AT FHITT | 3x1=3

“Urban waste disposal is a serious problem in ‘Metropolitian cities’ of
India.” Explain any three values that can help in minimising this
problem.

14. IR ¥ MYgFeh s o # ‘Tanedi’ & #gw 1 auiH Hifs | 5

Describe the significance of ‘services’ in the modern economic
development in the world.

15. @4 6 ol w1 sufeufa S sraeen o /e i Thid o YR W &1
H Fifipd HINT | o THGE ¥ fRH YHR A B ? 3@ Higd TR
$IfT | 1+4=5

Classify mining methods on the basis of mode of occurrence and the

nature of the ore, into two categories. How are they different from each
other ? Explain with examples.

16. “fashr@ @Il ol heg § W@ AT AET @1fgQ, A foh Tk @l @FT @ o=
@A |7 39 HYH i gfse i | 5

“Development must be woven around people, not the people around
development.” Support the statement.

17. @R # ‘fom & fomr gig’ qon ‘foem dfgd ghg’ &1 g |fed T
HIT | 3+2=5

Explain with examples ‘growth without development’ and ‘growth with
development’ in the world.
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“UNd § T TETET ST SRV SR YeYA AHa B |7 qehl |fgd 39 U Wl
ATIETd 38T | 5
“Conservation and management of water resources is essential in India.”
Justify the statement with arguments.

faea aftaga 1 yg@ faund fore TR Th-ge il e @ ? IS8 digd T
HIT | 5x1=5

How are the principal modes of world transportation complementary to
one another ? Explain with examples.

A o ST SR o Fgeld Y <hl 3TN dfed AR hifu | 5x1=5

Explain with examples the changing nature of the international trade of
India.

ER & fau mu geifas Weraafes 4§, fagn gt simfas d@eon A, B, C,
D 3 E <kl 8= hIfu it 39 g8t am Ffafad S 6 7ee 9 39

o @it T8 et W fafav 5x1=5
A, uREH gewd gl § T Se ew

B. Tafed 9uew =1t W@ &=

C. “UR-AETG (Tt 1 AfaH TIE

D. 9q@ g9

E. 3TUse a1g-9eH

Identify the five geographical features shown on the given political
outline map of the World as A, B, C, D and E and write their correct
names on the lines marked near them with the help of the following
information :

A. A country with large area in Asia
A major area of subsistence gathering
The terminal station of a ‘Trans-Continental Railway’

A major seaport

= o a w

An international airport
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Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 21 :

(21.1) TRREN H &Ehd HI gfic ¥ HIF-AT ¢ T99 LT 7 2

(21.2) IR % fohrelt T THE FHated TUgw &= &1 W fafau |

(21.3) UR-hdfeaa towm! o ufvadt R & wem o1 9w fafew |

(21.4) 3THIRT & forelt Teh Y@ TH-uwH &1 A faRaw |

(21.5) e o foheflt weh Srauisd™ arg-aaH w1 a9 fafew | 5x1=5

(21.1) Which is the largest country of Asia in area ?

(21.2) Name any one major area of subsistence gathering in the world.
(21.3) Name the western terminal station of Trans-Canadian Railway.
(21.4) Name any one major seaport of Africa.

(21.5) Name any one international airport of Australia.

22. WA % feu U Tt Waramts # fefataa o e w5 sws o a
Tigu 3R 3 9m fafu 5x1=5

(22.1) WS [ gaehieh H Fai=l T AT T3

(22.2) Hiwelt 1 3Ol IeuTeh T

(22.3) oifeem o feuq Aigea™r Weifiehl e
(22.4) dHEETg H oo SiEd 6 TgE @F
(22.5) W § fe¥q s arg-ueH
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Locate and label the following five features with appropriate symbols on

the given political outline map of India :

(22.1) The state having the highest rank in Human Development Index
(22.2) The leading producer state of groundnut

(22.3) The software technology park located in Odisha

(22.4) The major coal field located in Tamil Nadu

(22.5) An international airport located in Assam

e :  HEiRad 3o Fa gIEETEAT aheniaEl & 077, Jv7 e 22 F € W/

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 22 :

(22.1) WRA 1 HH-81 TT WG foohE Y@ § Fai= T a1el 8 ?

(22.2) WA T BH-T1 TsT YheA T SV IcqTEH B 2

(22.3) e # oo wiFeeRR Mreifiehl 9 1 9 fafeg |

(22.4) dHeATg ® oo SRel 61 9@ @ #1911 fafew |

(22.5) 3TEH H fedq SIS ayg-ueH &1 9 fafE | 5x1=5

(22.1) Which state of India has the highest rank in Human
Development Index ?

(22.2) Which state of India is the leading producer of groundnut ?
(22.3) Name the software technology park located in Odisha.
(22.4) Name the major coal field located in Tamil Nadu.

(22.5) Name an international airport located in Assam.
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I |, 22 & forw For question no. zz -
U T {T-AHR (TS TR )
Outline Map of India (Political)
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